Math 098 Worksheet6.3A_CombiningRationalExpressions_v02

NO BOOK/ NO NOTES/YES CALCUATOR
Fall 2017 Dressler

Name

Add or subtract as indicated.

1) 54/15 - 17415

2) 6:/6 + 2n/6

3) 43/5 + 133/5

4) 51[6 + 8rf6 - 11

5) 91/6 + 54/6 - 11

6) 577 +A[2 - 4r[7

7) 8a[13 +A[14 - 7A[13

8) 91/5 + /15 - 8/5

9) 8415 + 545 - 7a[15 - 81/5

10) 7/7 + 5414 - 6:[7 - 814

11) 8/5 + 54/2 - 7A[5 - 812

12) 54[7 -2% —0A[7 - 33/2

13) -124/19 -23/2 +9[19 - 33/2

14) 5:/11 -23/2 ~17[11 - 3%

15) -101/6 -2% - 12+/6 - 3%

16) 63/3 + 123/5
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Add or subtract as indicated. You will need to simplify 26) 10/128 + 6418 - 44/32
terms to identify like radicals.

17) 2/7 - 7/28

27) =5[243 + 108147 + 9/27
18) 54/5 + 54/125

19) A/20 +A/180

20) A[45 - A[245

30) 2+/27x - 34/75x
21) A[48 - A[108

31) -64/20x - 24/80x
22) A[20 - A/320

3~ 3
23) -2n[73 + 4B 32) 4~/a + A[64a
24) 24/27 - 6A[12 33) 23/5 + «3/64a
25) 7a[27 - 5147 34) 3/8_y— 3/%
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3 3 . .
35) n[27y - ~[128y 44)A[9x - 18 + A[x -2

4 4
36) 312753 + A[3x 45) 10A/x7 - 3xA/x3

37) 4/48x3 + A[3x 168 i/x_7 i 1/5

38) 541253 + A[5x A .
47) 8\/x_7 - 2x«/5
3
39) AJ625x4 - «3/135x 3 3
48) 43/x16y2 + 24/xy2
3
40) N[10,000x4 - 1\3/1250x 3 3

49) 3 x7y2 +4 xy2

3
41) «/256x4 - «3/108x

3 3
50) 34/x7y2 - 54/xy2

42) Al16x - 32 + Alx -2
3 3
51) 44/x7y2 + 44[xy?2

43)Af4x - 12 + Alx -3

3 3
52) 34/x16y2 + 44/xy2

30f4



Simplify. Assume that each variable is nonnegative. 62) 57 [125x3 + A/5x

53) 3/8_ - '\3/54x

3
63) AJ625x4 - «3/135x

L|U‘l
>I<L‘)‘l

54) 7 + 8A/x -5

64) A[25% + 75 + Alx + 3

55) a[3x + 54[48x + 3+[12x

3 3
65) 4\/x”y?2 + 31]xy2

56) \[6x2 - 61/ 216x2 + 47/216x2

3 3
66) 7Alx3y13 = 5xy~/27y10
57 4 S[125x + 4 ~[27x ) TNX2y 2 = SxyN 27y

67) A2x = 24[18x + 5+[72x

3 3
58) 2 A[256x - 4 A[32x

68) A/5x2 - 57/80x2 - 6/80x2
59) 1111/5 - 5&/5

3 3 3
69) xz'\/8x4y2 -x3 '\/xyz + 8x'\/x7y2
3 3
60) 3~/x + ~[64x

3 3 3
70) xz'\/8x4y2 -x3 '\lxy2 + 6x'\/x7y2
61) '\3/8 - «3/128x
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Answer Key
Testname: WORKSHEET6.3A_COMBININGRATIONALEXPRESSIONS_V02

1) -124[15
2) 8/6

3) 173/5
4) 131J6 - 11
5) 144/6 - 11
6) A7 +4/2
7) /13 +A[14
8) A/5 +[15
9) Af15 - 3/5
10)A[7 - 3414
11)4/5 - 342
12) =447 - 53/2
13) =3/19 - 53/2
14) -124/11 - 5%
15) -224/6 - 5%
16) 183/5
17) -12+J7
18) 304/5
19) 8/5
20) -4+/5
21) -24/3
22) -6+/5
23) -4n[2
24) -6+[3
25) 1443
26) 824/2
27) 524[3
28) -43/5
29) -113/5
30) -94/3x
31) -20/5x
32) 82/;
33) 62/5
34) 23y - 4302y

35) 33y - 43/2y
36) (9x + 1W[3x
37) (16x + 1)n[3x
38) (25x + 1)n[5x
39) (5x - 3)3/5
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Answer Key
Testname: WORKSHEET6.3A_COMBININGRATIONALEXPRESSIONS_V02

40) (10x - 5)«3/10x

41) (4x - 3)A[4x
42) 5Afx - 2
43) 3/x - 3
44) 4r[x - 2

45) 7&/5

46) 4&/5

47) 6&/5

48) (4x5 + 2)3/x_y2
49) (3x2 + 4)3/x_yz
50) ( 3x2 - 5)i/x_y2
51) (4x2 + 4)i/x_y2
52) (3x5 + 4)3/x_yz
53) 2% - 33/&

54) 32/2 +5
55) 274/3x
56) -11xA/6

57) 32 5[
58) 0

4
59) 6xA/x3
60) 73/

61) 2% - 43/&
62) (25x + 1)n[5x

63) (5x - 3)%
64) 6a/x + 3

3
65) (4x2 + 3)'\/xy2

66) —8xy43/§
67) 254/2x
68) -43xA[5

3

69) 9x3 | xy?2
3

70) 7x37xy2

U)
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